
 

Stresses due to combined loadings Topic 14: 10  Mechanics of Materials 

Example 14.2 
 
A crane is made up of a vertical column AB with a boom pinned to the column at B. The 
columnn has a tubular cross section of thickness t, as shown below. The boom supports a 
block with a weight of W. Determine the maximum tensile stress and maximum 
compressive stress near the base cross section at A when the boom is in the position 
shown. 
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Stress components
A cross sectional area bh Cb zt h Zt

Iz 2nd area moment about z axis
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Note If Tz Ti To tensile

If Tz Ji Ta compressive but less than Td

Td is ALWAYS compressive


